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Vocabulary

A. Match the pictures with sentences .one picture is extra.
1)The girl hurts the animal. (....... )
2)The firemen are putting out the fire.  (....... )
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B. Match the words with the definitions. There's one extra definition.
ldieout( ) a. the time after now
2.future () b. to injure somebody

c. to stop existing

C. Fill in the blanks with the given words in the box. There's one extra word.

Protect — injured — plain — relatives - destroyed

1 | 1.The hunters killed the tigerand ........................ its home.
2. There are lots of beautiful zebras livingin this .....................
3. lbroughtthe ...................... bird into the room and took care of it.
4 Oneofour.................... is a zookeeper in Mazandaran.
Grammar
A.Where are they going to spend their holidays?
e
B.Choose the best choice.
1. I don't know how to use this map".
"Itis not hard. I.................. you".
05 | a.show b. showed c. will show d. am going to show
2. There is a good film about Persian zebra on TV tonight".
"Yes, | know. We ......ccovvveee... it".

a. are going to watch b. watched C. watch d. will watch
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C. Unscramble the following sentence.
1. many / students/ protecting/ interested/ nature/ in/ are/.

D. Make question using proper wh- question related to the underlined words.

The tourists will visit Chehel Sotoun this afternoon.

S I T ?  (the tourists)
2 ? (chehel Sotoun)
Writing:
1 | A. Spelling: Look at the following pictures and fill in the blanks with the correct letters.

i

tcu wotre
1.Humans .............. trees to make home.
2. They are going to visit Milad ............ next Friday.

B.Read the text and find three errors and correct them.

My family and | went to Moghan plain last summer. It is one of the nicest places in Iran. There
weére

a lot of wild flowers. We took some pictures of that beautiful flowers. There were many men and
woman in the plain. We talked to them about nature .We enjoyed their visit.

2
C.Read the text above again then find the nouns and write in the correct blanks.
Proper noun Common noun Singular noun Plural noun thing
D. Suppose that you are going to travel to Shiraz. Explain what will you do there. (write two
sentences)
Lh ettt et RS RS Sessbas ettt
1
2 ettt b a Atk RR ARttt




Reading:
A.Read the short texts and choose the best answers.(cloze test)

My wife and | are planning to travel to Japan and we are both very happy about it. We are packing

for the trip. We have passports, and long list of placeto (1)........... , and thing to do . However,
we can’t decide on one thing. My wife wants us to (2)............ a tour group. Inher (3)............ it
will be more funto (4)................... with other people and she thinks that without a tour guide
we may get lost.

1) a) attract b) prepare C) visit d) save

2) a)get b) join c ) spend d) plan

3) a) culture b ) choice ) opinion d ) destination

4) a) travel b) check c) carry d) believe

B. Read the passage carefully and answer the questions:

Today, there are some endangered animals on Earth. It means that we can find only a few
of them around us. Some examples are whales, pandas, tigers and Asian elephants.

The Iranian cheetah is among these animals. This wild animal lives only in the plains of
Iran. Now there are only a few Iranian cheetahs alive. If people take care of them, there is
hope for this beautiful animal to live.

Recently, families are paying more attention to nature, students learn about saving
wildlife, and some hunters don't go hunting anymore. The number of cheetahs is going to
increase in the future.

1. What does the writer mean'* the endangered animals **?

1o, 20 K 4o,
3. Which place is not a natural home of wild animals?
a. park b. lake c. jungle
4. Where is the natural home of the Iranian cheetah?
a. forest b. plain C. mountain
5. In the past, many hunters paid attention to wildlife. a. Trueo b. False 0

6. When people take care of cheetahs, the number of these animals will increase.
a.Trueo b. False 0

With best wishes

sohrabi
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